
 

 

lsV&lsV&lsV&lsV&II 
    

Model Question Paper     
tho foKku  Biology  

Okkf"kZd baVjehfM,V ijh{kk&2021  

Time Allowed : 3 Hours                             Full Marks -70     

 Pass Marks – 23 
 

Candidates are required to give  their answers in their  own wards as far as practicable. 

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 
General Instructions : lkekU; funsZ’klkekU; funsZ’klkekU; funsZ’klkekU; funsZ’k 

Q. Nos. 1 to 20 are Multiple choice/objective Type each of 1 mark. 

iz'u la[;k 1 ls 20 rd cgqfodYih;@oLrqfu"B iz’u izR;sd 1 vad dk gSA  

Q. Nos.21 to 27   are Fill in the blank Type each of 1 Mark. 

iz'u la[;k 21 ls 27 rd fjDr LFkkuksa dh iwfrZ ls lacaf/kr iz’u gSaA  
izR;sd 1 vad dk gSA 
Q. Nos.28 to 34 are very short Answer (VSA) Type each of 2 Marks 

iz'u la[;k 28 ls 34 rd vfr y?kqmÙkjh; iz’u izR;sd 2 vad dk gSA 
Q. Nos. 35 to 39 are short Answer Type each of 3 marks. 

iz'u la[;k 35 ls 39 rd y?kq mÙkjh; iz’u izR;sd 3 vad gSA  

Q. Nos. 40 and 41  are Long Answer Type each of 7 Marks.  

iz'u la[;k 40 o 41 nh?kZ mÙkjh; iz’u izR;sd 7 vad dk gSA 
  

This question paper consists of five Groups A, B,C,D and E. 
bl iz’u i= esa ik¡p lewg gS v]c]l]n ,oa bZA  
All sections are compulsory lHkh [k.M vfuok;Z gSA 

 

Group A [k.M&v[k.M&v[k.M&v[k.M&v  
 (Multiple choice/objective Type question) ¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½¼cgqfodYih;@oLrqfu"B iz’u½    

Choose the correct answer lgh mÙkj dk pqlgh mÙkj dk pqlgh mÙkj dk pqlgh mÙkj dk pquko djsa         uko djsa         uko djsa         uko djsa         1111×22220000=22220000    
 

1- y?kqchtk.kq /kkuh dh vkarfjd ijr tks fodkl’khy ijkx.kksa dks iks"k.k iznku 
djrh gS] og gS &  
The innermost layer of the micro sporangia which nourishes the developing pollen grains is - 

 

 (A) chtk.kqtu mÙkd Sporogenous tissue  (B) rarq filament  

(C) VsihVe tapetum (D) var% pksy intine  
 

 

2- vius iz;ksx ds fy, esaMy us eVj ds ikS/kksa ds fdrus foijhr y{k.kksa ds 
tksM+s dks fy;kA  
How many pairs of contrasting characters of per plant did Mendel select for his 

experiments ?  

 

 (A) 14 tksM+s 14 pairs  (B) 2 tksM+s 2 pairs  

(C) 1 tksM+s 1 pair  (D) 4 tksM+s 7 pair  
 

 

3- IykTeksfM;e ds thou pØ esa] ySafxd tuu fuEufyf[kr esa ls fdl ijiks"kh 
esa lEiUu gksrk gS\ 
During the life cycle of plasmodium, sexual reproduction takes place in which of 

the following hosts ?  

 



 (A) ekuo Human  (B) eknk ,uksQsyht ePNj Female 

Anopheles mosquito  
(C) uj ,uksQsyht ePNj Male 

Anopheles mosquito  

(D) (A) ,oa (B) nksuksa Both (a) and (b) 

 

 

4- ekuo eknk esa vaMtuu dh izfØ;k fdl voLFkk esa vkjaHk gksrh gS\ 
At which stage of life is Oogenesis initiated in a human female ?  

 

 (A) ;kSoukjaHk ds le; At puberty  (B) jtksn'kZu ds le; during menarch  

(C) jtksfuo`fr ds le;  
During menopause  

(D) Hkzw.kh; ifjo/kZu ds le;  
During embryonic development 
 

 

 

5- ;wdSafj;ksV esa DNA dh izfrd`fr gksrh gS&  
In Eukaryotes the replication of DNA takes place at- 

 

 (A) S izkoLFkk esa S phase  (B) G izkoLFkk esa G phase  

(C) G2 izkoLFkk esa G2 phase  (D) Go izkoLFkk esa Go phase 
  

 

 

6- lkekU; tqdke dk dkjd gS& The common cold is caused by-  

 (A) jkbuksokbjl Rhino viruses  (B) LVªsIVksdksdl U;qeksuh  
Streptococcus pneumoniae  

(C) lkyeksusyk VkbQhE;wfj;e  

Salmonella typhimurium  

(D) IykTeksfM;e okboSDl  
Plasmodium vivax 
  

 

 

7- fuEufyf[kr esa ls dkSu izfrca/ku ,atkbe dk ,d mnkgj.k gSa\ 
Which of the following is an example of Restriction endonuclease ?  

 

 (A) b0dksykbZ E. Coli  (B) fgUn II     HIND II 

(C) Mh0,u0,0 DNA  (D) buesa ls dksbZ ugha None of these  
 

 

8- ikfjfLFkdh inØe dh v/kkjHkwr bdkbZ gS& Basic unit of ecological hierarchy is -  

 (A) tho individual  (B) lef"V population  

(C) leqnk; community  (D) ikfjra= ecosystem  
 

 

9- DDT  ds vo’ks"k vkgkj Jà[kyk ls rsth ls ikj gks tkrs gSa vkSj tSo vko/kZu 
ds dkjd curs gSa] D;ksafd DDT-  

DDT residues are rapidly passed through food chain causing biomagnification 

because DDT is -  

 

 (A) ty esa ?kqyu’khy gS Water soluble                 

(B) fyfiM esa ?kqyu’khy gS Lipid Soluble  

(C) e/;e fo"kSyk gS moderately toxic  

(D) tyh; thoksa ds fy, fo"kSyk ugha gS non-toxic to aquatic animals    

 

10- rkack ekspd var% xHkkZ’k;h ;qfDr ls eksfpr rkack vk;u&  
Cu ions released from copper-releasing intra uterine devices (IUDS)   

 

 (A) xekZ’k; dks varjksZi.k ds fy, vuqi;qDr cukrk gSA Makes uterus unsuitable 

for implantation 

(B) 'kqØk.kqvksa ds Hk{kk.kqfØ;k dks c<+k nsrk gS increase phagocytosis of sperms  

(C) 'kqØk.kqvksa dh xfr’khyrk dks de djrk gS suppress sperm motility  

(D) vaMksRlxZ dks vo:) djrk gS Prevent ovulation   

 



11- L=hdslj dk og Hkkx tks ijkx ds vuqdwy izd`fr dk fu/kkZj.k djrk gS og& 
The part of the gynocium that determines the compatible nature of pollen is -  

 

 (A) ofrZdkxz gS stigma           (B) ofrZdk gS Style  

(C) vaMk’k; gS ovary          (D) lgk; dksf’kdk,¡ gSa Synergids    

 

12- fuEufyf[kr esa ls fdl ladj.k ds }kjk yEcs ,oa ckSus ikS/ks ds leku 
vuqikr feysaxs\ 
Which of the following crosses will give tall and dwarf plants in same proportions ?  

 

 (A) TT  X  tt              (B) Tt  X  tt        (C) TT  X Tt          (D) Tt  X  Tt   

13- ,d Mh0,u0,0 jTtwd esa U;wfDy;ksVkbM -------------- ds }kjk vkil esa tqMs+ 
gksrs gSaA  

In a DNA strand the nucleotides are linked together by- 

 

 (A) XykbdkslkbfMd ca/k glycosidic bond  

(B) QkWLQksMkb,LVj ca/k phosphodiester bond   

(C) isIVkbM ca/k peptide bond                     

(D) ,p&ca/k H-bond   

 

14- fuEufyf[kr esa dkSu HIV ds izlkj dk dkjd ugha gSa\ 

Which of the following is not a cause of transenission  of HIV ?  

 

 (A) fofHkUu ;kSu lkFkh Multiple sexual partners 

(B) laØfer lwbZ dk bLrseky sharing infected needles  

(C) ePNj dk dkVuk mosquito bite  

(D) lanwf"kr jDr dk vk/kku Transfusion of contaminated blood    

 

15- jklk;fud :i ls RNA, DNA ls (i)  fØ;k’khy vkSj (ii)   fLFkj gSA 
Chemically RNA is  (i)   reactive and  (ii)  stable than DNA.   

 

 (a) (i) leku equally (ii) leku equally 

(b) (i) de  less (ii) vf/kd more  

(c) (i) vf/kd more  (ii) de  less 

(d) (i) vf/kd more  (ii) leku more  
 

 

16- rackdq esa ik;k tkusokyk O;ludkjh jlk;u gS&  

The addictive chemical present in tobacco is -  

 

 (A) dSfQu Caffeine                  (B) fudksfVu nicotine   

(C) dSVsdksy Catechol               (D) dkcZu eksuksDlkbM Carbon monoxide   

 

17- fuEufyf[kr esa ls dkSu lh izfØ;k Mh0,u0,0 vaxqyh Nkih esa Mh0,u0,0 
ds izo/kZu ;k xq.ku ds fy, mi;ksx esa ykbZ tkrh gS\ 

Which of the following is a process used for amplification or multiplication of 

DNA in DNA fingerprinting ?  

 

 (A) lkÅnuZ CykWfVax Southern blotting         (B) ukWFkZuZ CykWfVax Northern blotting  

(C) ikWyhejst psu fj,D’ku Polymerase chain Reaction  

(D) buesa ls dksbZ ugha None of these    

 

18- tho fdl dkjd ds izfrdwy voLFkk ls cpko ds fy, izokl djrs gSa\ 
Organisms show migration in order to avoid unfavorable condition of which factor?  

 



 (A) rkieku temperature         (B) Hkkstu dh vuqiyC/krk food unavailability  

(C) o"kkZ precipitation              (D) buesa ls lHkh All of these   

 

19- fuEufyf[kr esa ls dkSu lk rjhdk Hkkjrh; 'kgjksa esa okguksa ls gksusokys ok;q 
iznq"k.k dks fu;af=r djus ds fy, mi;ksxh gS\ 
Which of the following is the way to control vehicular air pollution in Indian cities ?   

 

 (A) okguksa esa xa/kdghu isVªksy dk mi;ksx  Use of unleaded petrol       

(B) okguksa esa mRizsjd ifjorZdksa dk mi;ksx Use of catalytic converter in the vehicles 

(C) CNG dk ba/ku ds :i esa iz;ksx Use of CNG as fuel              

(D) buesa ls lHkh All of these  

 

20- XO ,oa XY izdkj dk fyax fu/kkZj.k -------------- dk mnkgj.k gSA  

XO type of sex determination and XY type of sex determination are the examples 

of -  

 

 (A) eknk fo"ke;qXedh female heterogamete           

(B) uj le;qXedh Male Homogamety  

(C) uj fo"k;;qXedh Male  heterogamete                         

(D) (b) ,oa (C) nksuksa both (b) and (c)    

 

  

GROUP-B/[k.M&[k.M&[k.M&[k.M&cccc    
                                                   (Fill in the blanks)                                     1111×7777=7777 

¼fjDr LFkkuksa dh iwfrZ½ 
     

 

 fn, x, cDls esa ls lgh 'kCn dk pquko dj [kkyh LFkku dks HkjsaA  

Fill in the blanks by choosing correct word from the given box.  

 

  

 

 

 

  

 

 

 

21- Mh0,u0,0 [k.M] ---------- dh lgk;rk ls vkil esa tqM+ tkrs gSaA  
DNA fragments can be joined together using ……….  

 

22- ELISA ¼,ykbtk½ ------------ ikjLifjd fl)kar ij dk;Z djrk gSA  

ELISA is based on the principle of ………….. interaction.  

 

23- ijkx d.k dh ----------------- dksf’kdk foHkktu ds i'pkr~ nks uj ;qXed dk 
fuekZ.k djrh gSA  
………… cell of the pollen grain divides to form two male gametes.  

 

24- vkeokrh laf/k’kksFk ,d ---------------- jksx gSA  

Rheumatoid arthritis is an ……………. disease.  
 

 

25- isVªksy ,oa Mhty dh rqyuk esa ----------- T;knk vPNs ls tyrk gSA  

…………. burns more efficiently as compared to petrol and diesel.  

 

iks"kdksjd] Mh0,u0,0 ykbxst] iztuuh] lh0,u0th0] 
izfrtuh&izfrj{kh] Lo&izfrj{kh] izfrLi/khZ] mUuk;d] izfr&izdwV   

trophoblast, DNA ligase, Generative, CNG, Antigen-Atibody, Auto-immune, 

competitive, promoter, Anti-codon.   



26- ------------ Mh0,u0,0 v.kq dk og LFkku gS tgk¡ vuqys[ku ds le; RNA 
ikWyhejst ca/k tkrk gSA  

………… is the site of DNA molecule at which RNA polymerase binds during 

transcription.  

 

27- dksjdiqVh dk lcls ckgjh ijr -------------- dgykrk gSA  

The outermost layer of  blastocyst is called as ………….  

 

  

GROUP-C/[k.M&[k.M&[k.M&[k.M&llll    
                                 (Very Short Answer Type question)                      2222×7777=14141414 

vfr y?kqmÙkjh; iz’u 
     

 

28- thok.kqvksa ds dkj.k gksusokys nks jksxksa ds uke fy[ksaA  

Write the name of two disease caused by bacteria.  
 

 

29- Dyksfuax laokgd D;k gSa\ ,d mnkgj.k nsaA  

What is a cloning vector ? Give one example.  
 

 

30- ifjHkkf"kr djsa & Define- 

          (i) lgyXurk Linkage      (ii) cgqvyhyrk Multiple Allelism.  
 

 

31- mUehyijkx.kh iq"i D;k gSa\ D;k bu iq"iksa esa ij&ijkx.k gksrk gS\ 
What are chasmogamous flower ? can cross pollination occur in these flowers ?  
 

 

32- RNA ds nks eq[; dk;ksZa dks fy[ksaA Write two important function of RNA.  
 

 

33- ØkbZ izksVhu D;k gS\ dkSu lk tho ØkbZ izksVhu dk mRiknu djrk gS\ 
What is Cry protein ? Which organism produces Cry protein ?  
 

 

34- vkuqokaf'kd fodkj D;k gS\ esaMsyh;u fodkj dks nks mnkgj.k nsaA  
What is genetic disorder ? Give example of two Mendelain disorder.  
 

 

 GROUP-D/[k.M&[k.M&[k.M&[k.M&nnnn    
                                           (Short Answer Type question)                                3333×5555=15151515 

y?kqmÙkjh; iz’u    

 

35- fn, x, fp= esa A, B ,oa C dh igpku djsaA  

In the given picture, identify A, B and C. 

 

 

 

 

 

 

 

 

 

 
 

 



36- izfrj{kk D;k gS\ Vhdkdj.k] izfrj{kk ls dSls lacaf/kr gS\ 
What is immunity ? How vaccination is related with the immunity ?  
 

 

37- iqu;ksZtu Mh0,u0,0 rduhd esa izfrca/ku ,atkbe dSls mi;ksxh gS\ 
izfrca/ku ,atkbe dk ,d mnkgj.k nsaA  
How restriction Enzymes are useful in Recombinant DNA Technology? Give example of 

one restriction enzyme.  
 

 

38- lef"V dh fdUgha rhu egRoiw.kZ fo’ks"krkvksa dks fy[ksa ,oa mudh laf{kIr 
O;k[;k djsaA  
List any three important characteristics of a population and explain in brief about them.  
 

 

39- Mªx ,oa ,Ydksgy dqiz;ksx ls vki D;k le>rs gSa\ lewfpr f’k{kk vkSj 
ekxZn’kZu blls cpus ds fy, uo;qodksa dh lgk;rk dSls dj ldrk gS\  
What do you understand by drug and alcohol abuse ? How proper education and guidance 

can help youth to safeguard themselves from it ?  

 

 GROUP-E/[k.M&[k.M&[k.M&[k.M&bZbZbZbZ    
                                           (Long Answer Type question)                            7777×2222=14141414 

nh?kZ mÙkjh; iz’u    

 

40- (a) iqVdh; fodkl dh fofHkUu voLFkkvksa dks n’kkZrs gq, ekuo vaMk’k; dk 
,d ukekafdr fp= cuk,¡A  

(b) ca/; naifÙk;ksa dks larku ikus gsrq lgk;rk nsus okyh nks fof/k;k¡ crk,¡A  
(a) Draw a well labeled diagram of human ovary showing various stages of follicular 

development.  
(b) Suggest two methods to assist infertile couples to have children. 

    

 

 OR/vFkokvFkokvFkokvFkok     

 vko`rchft;ksa esa y?kqchtk.kq tuu dh izfØ;k dh O;k[;k djsaA  

Describe the process of microsporogenesis in angiosperms.  
 

 

41- ^vkuqokaf’kdr% :ikarfjr tho^ ls vki D;k le>rs gSa\ vkuqokaf’kdr% 
:ikarfjr ikS/ks fdl izdkj Qk;nsean gSa\ vius mÙkj ds leFkZu ds fy, ,d 
mnkgj.k nsaA  

What do you mean by ‘Genetically modified organisms (GMO) ? How genetically 

modified plants are beneficial? Give one example in support of your answer. 
  

 

 OR/vFkokvFkokvFkokvFkok     

 Bksl vif’k"V D;k gS\ Bksl vif’k"V ds fofHkUu mipkj D;k gSa\ 
What are solid wastes ? What are the various remedies for solid wastes?  

 

 

 


